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Introduction

This policy outlines the strategies used for calculations taught and leamt at St Elizabeth’'s Voluntary Catholic Academy.

Within key stage 1 pupils develop confidence and mental fluency with whole numbers, counting and place value. This should involve working with numerals,
words and, the four operations, including with practical resources [for example, concrete objects and measuring tools]. By the end of year 2, pupils should
know the number honds to 20 and be precise in using and understanding place value. An emphasis on practice at this early stage will aid fluency.

The principal focus of mathematics teaching in lower key stage 2 is to enswre that pupils become increasingly fluent with whole numbers and the four
calculations accurately with increasingly large whole numbers. By the end of year 4, pupils should have memorised their multiplication tables up to and
including the 12-multiplication table and show precision and fluency in their work.

The principal focus of mathematics teaching in upper key stage 2 is tor ensure that pupils extend their understanding of the numher system and place volue to
include larger integers. This should develop the connections that pupils make hetween multiplication and division with fractions, decimals, percentages and,
ratio. At this stage, pupils should develop their ahility to solve a wider range of problems, including increasingly complex properties of numhbers and arithmetic,
and problems demanding efficient written and mental methods of calculation. With this foundation in arithmetic, pupils are introduced to the language of

algebro as a means for solving a variety of problems. By the end of year 6, pupils should he fluent in written methods for all four operations, including long
multiplication and division, and in working with fractions, decimals and percentages.

CPA approuch
To support children with their calculating, the CPA approuch will be adopted in all year groups. C stands for concrete, meaning children have access to

manipulatives to support their working out, such as place value counters or numicon. P stands for pictorial, so children start to use visual representations such
as har models. A is abstruct where children can confidently calculate without the use of concrete or visuals to support.
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Yewr 5 Building on their understanding, children develop methods to- multiply up to 4-digit numbers by single-digit and 2-digit numbers. Children
develop column methods with an understanding of place value, and they continue to use the key skill of unitising to- multiply and divide by 10,
100 and 1,000. Written division methods are introduced and adapted for division by single-digit and 2-digit numhbers and are understood
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